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1. Answer the following questions (any ten) :
1x10=10
O] eppTR ey forl (R e wedy)

(@) What is social indifference curve?

e faeers @9 {2

(b) Define property rights.
TS iR i fim |

() What is monopoly power?

GO0 ITT I 5 9
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(2) (3)

(d) What is product differentiation? () Define cartels.
TE Restiwaa 3w & gam 2 SR IR I |
(e) Define saddle point. (m) What is exclusivity?
et R wigeat foagr | g feica 5 @ 2
(7 What is payoff matrix? (n) Write one difference between private
afone (e 62 goods and public goods.
IS 7 WE 59 GI9 WES GOl A2l
(g9 In what type of market we get o |
asymmetric information?
@ (RO TGRS SRS I (TRACH cofra (o) State Bertrand’s model of oligopoly.
T 2 ARG THRCTFOR IS9T OGOl TS T4 |
(h) Give an example of positive externality.
of5 e AT TaEEd foa | 2. Answer the following questions (any five) : i
2x5=
() What is first-degree price ©o eRPEA Te ot (R Gt <fivb)
discrimination? (a) Define Pareto efficiency.
o1 @1 7 Reew e & I8 2 GG’ TSR IR fra |
() What is the basic difference between (b) Write two features of public geods.

oligopoly and duopoly?

FfceeN @R WF WEFR IR e
i (c) How does concentration ratio determine
degree of monopoly power?

T SIS o qeea ¥ A
wERE R 2 e e T3 2
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(k) What is shutdown point?




(4) | | (5)

(b) Briefly explain the causes of market
failure.

T ReFeTo PR B T |

(d) What is ‘two-person zero-sum’ game?
BT *-TF 351 2
(e What is meant by signaling in

a market? () Explain the concept of excess capacity
under monopolistic competition.

TERE ALFS e [ 3@ 2
e . «if IGES  TAHI e Hae
(/) Distinguish between production mf%ﬂ? =T 541 | 7 5
efficiency and exchange efficiency. : C o)
T TRl W [T TEeR Sers sfyefey (d) When is price discrimination possible
ferm 1 and profitable? Explain.
(g9 What are minimax and maximin b R AR P 6l
strategies? TIGT < |
‘R’ s ‘cfEfm @ 2 (e) Explain the concept of Prisoner’s
(h) What is third-degree price e
discrimination? PRI a4 4IEICHT S0 <647 |
S A9 EACIET ? ;
2 T Reshiw fo () Distinguish between perceived and
: roportionate demand with the hel
3. Answer the following questions (any four . Ef ;p diagram. G p
5x4=20
ool APTYRA Ted ot (R e wifoT) oo wm1 SRS W wwEefee SRS
: HIETCH! T T |
(@) Explain how efficiency can be achieyeq
in exchange through Edgeworth box (g) Explain how the growth of monopoly
diagram. power can lead to market failure.
GEeqq 1y oag wm@ R wFel @ IO IHRT TS (e IwE REAo
*f13 #(1f<, 0T 4 | B ¢, I |
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(6)

() Do you think monopolist always
earns supernormal profit?  Justify
your answer.

4. Answer the following questions (any four) :

O PPTYRY Teq fordl (7 e wifot) Lo

(@) What is production-possibility frontier
(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10

- SRel gl et (P L ) R Bt
IR @9 eEe T RO @
TR FRI oM olap’T ST R
PO BECHT et |

(b) State and explain Coase’s theorem.

What are the limitations of Coase’s
theorem? 6+4=10

T ©GH TS WF g 9| G2 AR

ﬁ‘ﬂ%ﬁlﬁyqﬁ?ﬁi?

(¢)  How can monopoly power be controlled

and regulated? Explain, 10
T T M (R frmed o wRfe
I =1 2 30t <=4

( Continued )

(@)

(e)

(9)
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Explain how prices and output can
be determined under monopolistic
competition in the short run and
long run. ' 10

GIFIEFE THRC & HE A SFFTS HIE
AT @i AT IR A1, T 541 |

Explain diagrammatically Cournot’s
model of duopoly equilibrium. 10

6T el e SIREE SEC WIT 54 |

Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory?  2+6+2=10

QerFe (¥ (PTG T $R #A1fF, e
W|mmeWI

What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry
prevails. 2+6+2=10

R Sl 27 oA SpmfeR IwE
9 erom TR 2 WoT g SPERS A
TS SR fidl |
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(8)

(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. 5+5=10
GCoBA TEe @ @1 R o R,
[ A ABEHSF TGS 7 RS
CFIS TIF1eT YIEEICH! IR <61 |

() Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

w5l fom viftn RfSgree 29 umRe Rrewmmt
GBI TR (FETCI SAG Are =7,
TG AT |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium under
oligopoly. 10
THRcTroR TWEe TGS W€ By
ST Gl S AL (YA |
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